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(I)(a) Statement showing Shareholding Pattern

As a % of (A+B)

(A) Shareholding of Promoter and 
Promoter Group 

1  Indian
(a) Individuals/ HUF 8 13965204 73.20

(b) Central Government/ State 
Government(s) 0 0 0.00

(c) Bodies Corporate 1 80 0.00
(d) Financial Institutions/ Banks 0 0 0.00
(e) Any Other (specify) 0 0 0.00

Sub-Total (A)(1) 9 13965284 73.20

2 Foreign

(a) Individuals (Non-Resident 
Individuals/ Foreign Individuals) 0 0 0.00

(b) Bodies Corporate 0 0 0.00
(c) Institutions 0 0 0.00
(d) Any Other (specify) 0 0 0.00

Sub-Total (A)(2) 0 0 0.00

Total 
Number of 

shares

Total shareholding 
as a % of total 

number of shares

Category 
code

Category of shareholder No. of 
Share-
holders

SHAREHOLDING PATTERN 
(AS PER CLAUSE 35 OF THE LISTING AGREEMENT)

73.209 13965284
Total Shareholding of Promoter and Promoter 
Group                                                    (A) = 
(A)(1)+(A)(2)  

Name of the Company

Scrip Symbol
Scrip Code

Quarter ended



(B) Public shareholdings 

1 Institutions 

(a) Mutual Funds/ UTI 0 0 0.00
(b) Financial Institutions/ Banks 1 70000 0.37

(c) Central Government/ State 
Government(s) 0 0 0.00

(d) Venture Capital Funds 0 0 0.00

(e) Insurance Companies 0 0 0.00

(f) Foreign Institutional Investors 1 37783 0.20
(g) Foreign Venture Capital Investors 0 0 0.00
(h) Any Other 0 0 0.00

Sub-Total (B)(1) 2 107783 0.56

2 Non-institutions 

(a) Bodies Corporate 314 783157 4.10

(b) Individuals -

 i. Holding nominal share capital up 
to Rs. 1 lakh. 18903 2579553 13.52

 ii. Holding nominal share capital in 
excess of Rs. 1 lakh. 29 753022 3.95

(c) Any Other - 
Individuals (Non-Resident 
Individuals/ Foreign Individuals)
Non- Resident (Non - Rep) 34 3662 0.02

Non- Resident (Rep) 96 66454 0.35

Trust 4 720192 3.77

Clearing Member 131 100333 0.53

Sub-Total (B)(2) 19511 5006373 26.24

19522 19079440 100.00TOTAL (A)+(B) 

26.8019513 5114156Total Public Shareholding                        (B) = 
(B)(1)+(B)(2) 


